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Some formulas you may need: E=z, P4
n

1.(1, 1, 1, 1, 4, 2 points) Apple wants to know what percent of cell phone users in Los Angeles own an Iphone.
In order to figure this out, 319 cell phone users in Los Angeles were asked what kind of cell phone they own. Of
the 319 people asked, 128 of them said that they own an Iphone.

a) What is the population?

ALl cell pPrent dstrs ‘n Les Anx)alfs

b) What is the sample?

Thy 319 pelleet Los Angiles  cell Phent  USErs.

¢) What is the population parameter (symbol and in words)?
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d) What is the best point estimate for the percentage of Los Angeles cell phone users who own an Iphone?
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e) Construct a 97% confidence interval for the percentage of Los Angeles cell phone users who own an Iphone
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) What does the 97% mean in a 97% confidence interval?
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